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:100-240 VAC~ 50/ 60 Hz,
24-240 VDC= /24 VAC~ 50/ 60 Hz,
24 VDC= /12 VDC=

- Cigh £31 S2 (671X & 2E)
- HE| AIZHEHS| (16 7HX] AlZH 2])

- ZHH2ISE K|0f AlZH (0.05 sec ~ 100 hour)
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Multi Function Eto|H

<100 ms

Power ON Start Signal ON Start

= INHIBIT, START, RESET

- =50 ms

- EHEfA] IEA: < 1kQ
CH2fA| &7 HQh < 0.5 VDC=
HEA| TS A > 100 kQ

Zzj|o]

StA| DPDT (2¢) &&= StA| DPDT (2c) SHA| SPDT (1c) +
StA| SPDT (1c) + A SPDT (1c)
Al SPDT (1c)

250 VAC~ 5A, 250 VAC~ 5 A, 250 VAC~ 5 A,
30VDC=5A 24VDC=5A 30VDC=5A
ek 2ot Xt st ek et

HHE <+ 0.2% 10 ms

HE: < +5% +50ms

Heh <+ 0.5%

25 <+2%

CE AN EAL

=~86.719 (= 13412 g) =859 (=132.29) ~ 8759 (=134.7 g)

100 - 240 VAC~ +£10% 50/ 12 VDC= £10% 24 VAC~ = 10%
60 Hz, 50/60 Hz,
24 - 240 VDC= £ 10% 24 VDC= +10%

o] w2t 40|

AC: < 4.3 VA DC:<15W AC: < 4.5VA
DC:<2W DC:<2W
AC: < 3.5VA DC:<1W AC: <4 VA
DC:<15W DC:<15W
AC: <43 VA DC:=15W AC: =< 4.5VA
DC:<2W DC:s2W

=100 MQ (500 VDC== megger)

2,000 VAC~ 50/ 60 Hz ofl A 122t

0| = AlS2i|o|Efof ofpt =0|= AlE2f|0|E{of| ofet ghnt 0| =
I} 0| = (HAE 1 ps) £500 V

(HAZ ] ps) £ 2kV

10 ~ 55 Hz (7] 122h) SFIZ 075 mm X, Y, Z 2 4 1412+
10 ~ 55 Hz (7] 182h BFZ 05 mm X, Y, Z 2 &k 102
300 m/s*(= 30 G) X, Y, Z 2t 4% 33|

100 m/s?(= 30 G) X, Y, Z 2t 4%t 33]

7|A41X: = 1000 gtz
F7|H: > 10 2k (250 VAC~ 5 A K3} B2a})

=10 ~ 55 °C, B& A|: -25 ~ 65 °C (B E= ZZE[X]| 2 A)
35 ~ 85%RH, & Al: 35 ~ 85%RH (Y &= H2E|X| pbs A)
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